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����$� ��������� �������	���� 	��
 ��� ��
� ���� 	� � ���


�# '���	 ������� �	 '���
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�� 	�� 	�
	� ������
� ���� ����
��� 	�� 30"0# 	�
	� �� ���� 	� �
	���	� 	�� �����

����	����	��� ����� ��	� 	�� 6�C" �� 	�� �#�C" �
	���	��� ��	��� 	� ��	 �����
��

��� �

��	�	�����
 �<����	 ��
�����
� :�	� 	�� 6�C" �
	���	��� �� ��� q ���
 ��� ����


�� ∆xit 	� 	�� �����

��� �%��	��� 	� ������	 ��� 	�� �������	��� ��	���� uit ��� νit�  � 	��

������ �� ���
 ��� ����
 �
 ��	 ������	�
 ���
��� 	��
 ���� �� � 
����� �� ���
 �
 �����

��� ���	
	��� �
 ��
�� �� 	�� ����� ����	����	��� ����� �� �%��	���
 (�*, ��� (�),

�
��� ��	� �� �����	� ���
���	���� ���������	 ���
���	��� ��� ������ ��� 	�� /+ �!36

����	���
 �� 	�� 
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��� ��� �������� yit �
 �����
��	�� �
 �����	� ���
���	��� ��� 	��

	��������
����� �������� ���	�� xit ���
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 �� ���������	 ���
���	��� ��� ���

 ����
	��

������	��� 6�	������
	�� ��������	
 ��� �������� �� 	�� ���� �� � ���
	��	� 0���� 	��

���� �
��	��
�
 �� 	�� 30"0# 	�
	� ���� ����	����	��� ����� 	�� ����� ������
� 	�� �����

�������
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 	�� �������	��� 	��	 xit ��� yit ���  (�, ��������
 ��� 	��	 �%��	��� (�*, �
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� ������
	����
� C� ��� #������ (�))2, �����
� 	��

��������� ���	
	��� 
	��	��
� ���
	� �
	���	� �%��	��� (�*, ��	� �� ���������	� �
	���	���

��	��� 	� ��	 �
	���	�
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������ ��$�� νit = ∆xit ��� ���	
	��� 	�� ����


(uit, νit)� ��� ��	��� ���
����
 	�� �������	��� ��	���� uit ��� νit� ���� 	�� ���������	


��	���� yit ��� xit�  � ����� 	� ��
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������	�� �
 ������
A

�� :�	� 	�� �������� ��	� ��� 
����� ������ �� ����� �%��	��� (�*, �
 �
	���	�� ��� ����

����	�
 
�����	��
� ��� 6�C" ��� 	�� �#�C" �
	���	��
 ��� ������� 	� ������	

��� ���������	
 ��� 
����� �������	��� �� 	�� ������

/� ��� �
	���	�� ����	����	��� ������	��
 α̂i ��� β̂i ��� 
���� �� � (3 × N) ��	����

β̄� ��� �
	���	�� ���������� ��
����� 
����
 ûit = α̂i − x′
itβ̂i �
 	��� ��	���	�� ���

��.)� ���� �
 ��
���'�� �� �����! �� 
������ >�0� .)� 
���!� ������ �
 01�� �� ���0� .)� ���� �
 �� �
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������	�� ��	� � (T × N) ��	���� ūt� νit = ∆xit �
 �������	�� ��� ���� ����	�
 ���

��	����� ��	� � ��	��� �
 ν̄t = (∆x1it, ∆x2it)� ��� ��	��� �� ����� 	���
� w̄t = (ūt, ν̄t)�

���	���
 	�� �
	���	�� ��
�����
 �
 ���� �
 	�� $�
	 ���������
 �� xit�

+� ?���8
 �� ���
 �� w̄t ��� ����� ��	� ����������	 ��� ��
������ 	� ����� �� � ���

��	��� �� ����� 	���
 ��� 	�� ���	
	��� �
	���	���
� �� ������	 ��� 	�� 
	���	��� ��


����� �������	��� �� 	�� �����
� � ������ ����8 ���	
	��� �
 �
��� ��� T ��
����	���


��� ������� ��	� ����8
 �� ����	� �� ����� 	�� ����8
 �� ��
����	���
 ��
 ������� ����

�	���� :� ������	 � 
�	 �� ���	
	���
 ����� 	�� ����	� �� 	�� ������ ����8
 ���

������ ���� � = 1, ..., 8� ?
 ����� 	��
� �� ��� 	���� 	�� ����	 �� �������� 	�� 
�����

�������	��� 	� 
��� ������ 	��� ����=��
� 4�	� 	��	 
�		��� � = 1 ����
 	� � ��������8

���	
	��� �� 	��	 	�� ���
 �� w̄t ��� ��
������ ��� �
 ���� ?
 ���	
	������� 	��

����
 (ūt, ν̄t) �� w̄t� 	�� ���������	
 ��	���� yit ��� xit �
 ���
������

7� 4�� ��	� 
����
 ��� ���
	���	�� �
��� 	�� �������
 ����� ����� 	���
 ���� w̄t ���

	�� ������	�� �
	���	�
 �� β̄� ��� ���	
	��� ����	�����	 	� xit� x̄it� �
 ����	��

�����
����
 �
 x̄it = x̄it−1 + ûit ��	� ���	��� �����
 
�	 	� =��� ��� ȳit �
 ����	�� ��
��

�� x̄it �
 yit = α̂i + x̄′
itβ̂�

.� ��� ����� �� (�*, �
 �
	���	�� ��	� 	�� ��
������ ��	� �
��� 	�� 6�C" ��� 	��

�#�C" �
	���	��� ��� ����� 30"0# 	�
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 ������� 	� 	�� �
	���	�� ��
�����
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	�� 	�
	 
	�	�
	�� �
 
����� ��� ��
����� ��������� �
 �����	�� .99 	���
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�������

.99 30"0# 
	�	�
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1� ������
� 	�� )9� ). ��� )) ������	���
 �� 	�� 30"0# 	�
	 
	�	�
	��
 ��� ��	���	���
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� ���� �� �������� 	� 	�� ����
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 ��� 	�� �9� . ��� � ������	


����$����� �����
� ��
���	����
�

��� ��
��	
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 ��
�� �� 	�� 
	������ ������ ��
	����	��� ��� 
���� ����� 	�� ���	���� �����
 ����

	�� ���	
	��� ��� ���
��	�� �� ����� ?� :� ��
	�����
� ��	���� 	�� 6�C" ��� 	�� �#�C"

�
	���	�� ��� ���
��	 ���	���� �����
 ��� �������	 ����	�
 �� 	�� ����8
 �� ��
�����
� ����

��.� 
��� 
����� ��!� �)� ��
�!�
 	�� � = 1, 4, 5 ��� ���
����� �� �)� ��'!��
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����� �A ?��	
	��� �� 	�� 30"0# 	�
	

����� �� #��!�����! �������! ��!��


0�@ 2@ 0@
1.28 1.64 2.33

����� �� ����
������� �������! ��!��


0�@ 2@ 0@
���� � = 1 3.45 4.04 5.46

� = 4 4.34 5.13 6.45
� = 5 4.90 5.51 7.01

A<��� � = 1 2.33 2.79 3.67
� = 4 3.30 3.83 4.95
� = 5 3.48 4.08 5.37

����� .)� ���!�����! �������! ��!��
 ��� 	��� �)� 
������� �����! ��
���'������ � �
 �)� !��(�) �	
�)� �����( '!��$
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 	��	 � ��������8 ���	
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 ��� �����
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� �� �
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 ��	� ���� 	��������� � 	��� 
���

�� 	�� 
����� �������	��� �� 7 	� . ������
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 ��� ���� ������� ���	 	�� ���	
	��� ����� ������	�
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	���� ���
� ��� 
��
	��	���� �����

������	�
 	��	 �	 �
 �����	��	 	� 	�8� ��	� ������	 
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 	� ������� 	�� ����	��� ��	���� �����	� ��� ���������	 ����


���	��� �
 �
	���	��� � ����	����	��� ����� ��� � ����� �� /+ �!36 ����	���
��� ���

	�����	���� ��������8 �� 
��	��� + 
����
 �
 	�� ��
�
 ��� 	�� ����

�
� ��� ����	��� 	��	

�
 	� �� �
	���	�� �
 �%��	��� (�1,� ����� �����	� ���
���	���� ���������	 ���
���	���

��� ������ ���� � ����	����	��� ����	���� ��� �������� ����	��� ��	���� �����	� ��� ����

������	 ���
���	��� �� �%��	��� (�., �
 	��
 ��	����� ��	� � ���
��� �� ������� �� ����

��	� 	�� �������	
 �� ������ (�))+,� 0����	���	��
� ��� 	� ���8 �� ��	�� �� ���� 	� �
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	��� �� ��
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2.� :� �����
 ��	� ���
���� �� � %���	���
 ��
�
 ��� ��� ��������
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�����

������ �
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pcit = αi + β1i gcit + β2i gdpit + εit (/*,
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 �����	� ���
���	���� gcit �
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���	��� ��� gdpit �
 ������

���
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���	���� �
 β1 = −θ� 5�����

�� β1 > 0� ���������	 ���
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 �


��
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����� /A ��
	 �� ����� ���	 ���	


����!
 A��
� ��8�

C�� ��
���� pct 7.51 ∆pct −13.36
��� �)�� /���;3 gct 4.51 ∆gct −15.22

gdpt 9.49 ∆gdpt −15.15
��
���� /���23 pct −0.38 ∆pct −2.85

gct −0.18 ∆gct −2.91
gdpt −0.05 ∆gdpt −3.04

����� .)� 2 ������� �������! ��!�� 	�� �)� C�� ��
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 ��	� � ����� ���	 ���	 	�
	� :� ����
 	�� ����� ���	 ���	 	�
	
� $�
	� 	��

 >" 	�
	 �����
�� �
  � �	 ��� (/99+, ���� 
������ 	�� 	�
	 �����
�� �
 >�
���� (/99.,���

("�� 
��	��� 7�� ��� � ����� ��
����	����, :���� 	��  >" 	�
	 �

���
 �� ���

�
��	�����

���������� ����� 	�� ����� ������
� 	�� >�
���� 	�
	 �����
 ��� 	��
 8��� �� �������	����

��� ���� �
��	��
�
 �� 	�� 	�
	
 �
 	��	 ��� ���������� 
����
 ���	��� � ���	 ���	� ���� �����

	�� ��	����	��� �
��	��
�
� 	�� 	�
	
 ����� ��� ��	� ���	 ���	
 ��� 
	�	������	
 ����� 	��

����������
� ��� ��
��	
 �� 	�� 	�� 	�
	
 ��� ���
��	�� �� 	���� /���

��� ������� ������
��� ���� 	�� ���	 ���	 	�
	
 �
 	��	 ��� 	���� ��������
 ��� �� ��������

�
 �����  (�, ��������
� ��� ���� �
��	��
�
 �� � ����� ���	 ���	 �
 ��	 ��&��	�� ��� 	��

��������
 �� �����
� ����� �	 �
 ��&��	��� �� ������ �� 
	�	������	
� ��� 	�� $�
	 ���������
� ���


������
��� ��� �� ����� ���� ��	� 	�
	
� ��� ����� 	�
	 
	�	�
	��
� �� ��
���	� 	���
� ���

	��  >" 	�
	 ��� � ��
��	 �� 	�� ���	 	��	 	��  >" 	�
	 �

���
 �� ���

�
��	��� ����������

�� 	�� ������ �� �

���	��� 	��	 �
 ��	 ����� �� 	��
 �������	����

��.)� ��
�!�
 �	 �)� ���������! #�A ��(��

���
 �����!���( '��) �)� C�� ��
� ��� �)� ��
���� ��
� ���

���
����� �� ��'!� > �� �)� ��������� .)� ��
�!�
 �	 �)� ��
�
 ���!� �)�� �)� ��
� ��4����� �	 �)� ���������!


����
 ������ �� '� C/03�
��.)� !�( !��(�)
 �� �)� �����!���( #�A ��(��

���
 )��� '��� 
�!����� �
 �)� ����(�� �	 T 1/3�  )��� T

�
 �)� ���'�� �	 �'
��������
� .)� �)���� �	 !�( !��(�) ���
 ��� ��E����� �)� ������� �	 �)� ��
��

/.



��� ��	�
����
	�� ��
��



 � 	��
 
��	���� �� ����

� 	�� ����	����	��� ������	��
 �� 	�� ��������� ����� �� �%��	���

(/*,� ���
	� �� ����
 	�� 30"0# 	�
	 	� 	�� ����� �� 	�� /+ �!36 ����	���
 	� 	�
	

��� ����� ����	����	���� -�	�� $����� 
�����	 ��� 	�� �
��	��
�
 �� ����	����	���� ��

����

� 	�� ��	���� �� 	�� ����� �����

��� 	� ������	� 	�� ����	���
��� ��	���� �����	�

��� ���������	 ���
���	����

��� ��
��	 �� 	�� 30"0# 	�
	 �
 ���
��	�� �� 	���� +� ��� �
	���	�� 30"0# 
	�	�
	��

�
 
���� �� ����� -� ����� ���	���� �����
 ��� 
���� �� ����� ?� ��� ���� �
��	��
�
 ��

	�� 	�
	 �
 	��	 ��� ����� ������
 ��� ����	����	��� ����� �
 	�
	�� �����
	 	�� ��	����	���

�
��	��
�
 �� ��������	����	��� �� � 
��
�	 �� 	�� ����� ������
� ��� 30"0# 	�
	 �����


��� ��	��������
 ����	����	��� ���	��
 ����� 	�� ����� ������
 ���� 	��������� �%��	���

(/*, �
 ��� 
�����	��
 ��� ���� ����	�
� 3��
�
	��	�
 �
	���	�� ��
�����
 ��� �������� �


����
��� 	�� 6�C" �
	���	�� �� 	�� �����

���
��� -���
��� 	�� ����	����	��� 	�
	 	�

	�� �!36 ��	� 
����
 � 	�
	 
	�	�
	�� �� +�9�� 3�������� 	��
 
	�	�
	�� 	� 	�� ����
	����

���	���� �����
 �� ����� ? ����
 	� 	�� ��&��	��� �� 	�� ���� �
��	��
�
� 5������� �� 
��	���

.� �� ����� 	��	 � ���	
	��� �� 	�� 	�
	 ��
��	�� �� ���	���� �����
 
��
	��	����
 ������ 	���

	�� ����
	���� ���
� - ���	
	��� �� 	�� 	�
	 �
 ��
� ���������	� 
���� �	 �
 ���� 	� �����

���

�
��	����� ���������� �� 	�� ��	�� 0
��� 	�� ���	
	������ ���	���� �����
� �� �� ��	

��&��	 	�� ���� �
��	��
�
 �� ����	����	��� �	 ��
 ������	����� 
����$����� ������ ���
� ��

$�� 
�����	 ��� 	�� �
��	��
�
 �� � ����	����	��� ����	��� ��	���� �����	� ���
���	����

���������	 ���
���	��� ��� �6> �� 	�� �!36 ����	���
� :�	� 	��
 ��
��	 �� ����� ��

������� ��� ����

� 	�� �
	���	�� ������	��
 ���� 	�� ����� ����	����	��� �����

����

�� ������	� 	�� ����	���
��� ��	���� �����	� ��� ���������	 ���
���	���� 	�� ���	


	�� �� 	�� ����

�
 �
 	� 
�� �� �� ��� $�� � 
����� ����	��� ��	���� 	�� ��������
 	��	 �
 �����

��� ��� ����	���
� �� �� �� ���� 	� ����

� ���� ����	�
 
�����	��
� ��� ����	��� ��	����

��#!! �)� ��
�!�
 ���
����� �� �)�
 
������ ��� 	��� �
��������
 �
��( �)� ���� �
�������� 
�����( �)�

���'�� �	 !�(
 ��� !���
 �� �� *)��(��( �)� ���'�� �	 !�(
 ��� !���
 ���
 ��� �)��(� �)� ��
�!�
� -�

)��� �!
� �
������� �)� ����! �
��( �)� A<��� �
������� ��� �!! ��
�!�
 ��� ��!��  ��) �)�
 �
��������

���)�� �
  �!!� -� �)��
� �� ���
��� �)� ���� �
������
 �� �)� !�()� �	 �)� ��
�!�
 �� 6�� ��� *)���(

/����3�  )� F�� �)�� ���� �
 ���� ���	���'!� �� F���� 
���!�
�

/1



����� +A ��� ��
��	 �� 	�� 30"0# 	�
	

����� �� .)� *���< ��
�

*���< 3.01

����� �� *������! ��!��


0�@ 2@ 0@
#��!�����! 1.28 1.64 2.33
����
������� 3.45 4.04 5.46

����� .)� ���!�����! �������! ��!��
 ��� 	��� �)� 
������� �����! ��
���'������ .)� '���
�������
�������! ��!��
 �� �)� ��'!� ��� 	�� � ����'!��$ '���
����� A�� �����!
� 
�� 
������ 2�

�����	� ��� ���������	 ���
���	��� ������
 �� � �����	
 �� ������
	����
� 
��� �
 	��


�=� �� 	�� ���������	 
��	�� ��� 	�� �����
�	��� �� ���������	 ���
���	���� "���� 	��
�

������
	����
 ���
 ��	���� ����	���
� �	 �
 ��	 ���	��� 	��	 �
	���	��� � 
����� ����	���
���

��� ��� ����	���
 �
 ���������	�� -� �������	� ����	��� ��	���� �����	� ��� ���������	

���
���	��� ��� �� ����� �
 ������� 	�� ��	� ��� �
	���	� �%��	��� (/*,� ��� ��
��	

�� 	�� �
	���	��� �� 	��
 �������	�� ����	��� �
 ����� �� ����� - �� 	���� 7� 5������� ��

	�� ����	��� ��	���� �����	� ��� ���������	 ���
���	��� �����
 ����� ����	���
� �	 ��


��	 �� ���%��	� 	� �
	���	� ���
 ��� ����	���� :� �����

 	��
 �

�� �
 ����
��� � :���

	�
	 	� 	�� ����� �
	���	��� �� �%��	��� (/*, 	� 	�
	 �� 	�� ������	��
 �� 	�� ����	����	���

����	���� ���� α� β1 ��� β2� ��� �%��� ����

 ��� ����	���
� ��� ��
��	
 �� 	��
� :��� 	�
	


��� ���
��	�� �� ����� ? �� 	���� 7�

��� 	�� ������ �
	���	���� 	�� ������	�� ���
����� 	�� ����	��� ��	���� �����	� ���

���������	 ���
���	���� β1� �
 �
	���	�� �	 −0.59� ����� �
 
����$���	 �	 	�� . ������	

������ ��� ����	��� ���<����	 ������
 	��	 ���������	 ���
���	��� �
 � 
��
	�	�	� ���

�����	� ���
���	���� ��� ��
��	 �
 ���
 
������ 	� 	�� ��
��	 �� 5� (/99�,� ��� �
	���	�


	�� ����	��� 	� �� −0.54 ��� /7 �!36 ����	���
 ��	���� �)*� ��� �))2��� -�������� 	� 	��

:��� 	�
	
 �� ����� ?� �������� 	�� �������	��� �� � 
����� ����	����	��� ����	��� �
 ������
�

��.)� ����! �� +� /���03 ���
�
�
 �	 �5 �
*� ��������
� *������� �� ��� 
����� #�(������ ��� .��$��

��� ���!���� �� +�G
 ���!�
�
�  )�!� #�
���!�� �
 ����

/2



����� 7A ��� ��
��	
 �� � ������ �
	���	��� ��� :��� 	�
	
 �� �%��� ���<����	


����� �� ���!�� �
��������

α β1 β2

1637.02 −0.59 0.62
(11.11) (−12.31) (48.88)

����� �� -�!� ��
� �	 �7��! ���H�����


αi = α
β1i = β1

αi = α β1i = β1 β2i = β2 β2i = β2

-�!� 
����
��� 60264.55 1148.71 1788.97 1149.34
����!�� 0.00 0.00 0.00 0.00

����� C� ����! #� ����!��
 ��� �� ������)�
�
� .)� ����!��
 �� ����! � ��� 	��� �)� χ2 ��
���'������

���� :��� 	�
	
 ��� ������	��� ���
	� �� 	�
	 
�����	��
 �� αi� β1i ��� β2i ��� �%��� 	� 	��

������ ���<����	
 α� β1 ��� β2� ��
���	����
� "������ �� 	�
	 	�� &���	 �
��	��
�
 	��	

αi = α� β1i = β1 ��� β2i = β2� -
 
��� �� ����� ?� �� ��&��	 ��� ���� ���� �
��	��
�
 ��

������ �� 	�� ��	����	��� �
��	��
�
 	��	 	�� ���<����	
 ��� ��	 �%��� ��� 	�� ����	���
�

5����� �� ���� �� ���
�� 	� ������� 	��	 	���� ���
	
 ��� ������ ����	����	��� ����	���

�� 	�� �!36 ����	���
 ��� �� ���	���� 	�� ����

�
 �
 
	��
��� ���� ����	�
 
�����	��
�

��� ��
��	
 �� 
�����	� �
	���	���
 �� 	�� ����	����	��� ����	��� ��� ���� ����	�
 ���

���
��	�� �� 	���� .� ��������
� 	���� ��� 
��
	��	��� ���������
 ����� 	�� ������	��

�
	���	�
 ��	���� 	�� ����	���
� ��� β2�������	�� �
 ��
�	��� ��� 
����$���	 �	 	�� .

������	 ����� ��� ��� ����	���
 ��	 ���� ��� ��
�	��� 
��� �� 	��
 ������	�� �
 �� ����

��	� ��� �����	�	���
� 
���� � ������ ������ �
 �����	�� 	� ���� 	� �� ������
� �� �����	�

���
���	���� :� ����� �����	 	�� �
	���	�
 	� �� 
������	 ������ 	��� �� 	�� 	�����

��	 	�� ����	����
 ��� �
	���	�
 ��� �������
 ��� 	� 	�� ���	 	��	 �� ���� �������� �6>

�
 	�� ���
��� �� ������ �� 	�� ����

�
� "���� �6> �
 � ���
��� �� 	�� 	�	�� ������

�� 	�� ������
� ����� ��
� �������
 	���
� 	��
 ����	
 	�� �
	���	���
 ��������
�  � ��

���� ���� 	� �
� ��
��
���� ������ ��
	��� �� �6>� 	�� ������	��
 �����	��� 	�� ����	���

��	���� �����	� ���
���	��� ��� ������ ����� �������
 �� ������� ��� ��� ����	�
 ��	�

/*



� ����	��� β2�������	�� �
 C���������� ����� β2 �
 �
	���	�� �	 −0.22� ��� ������	��

�
 
����$���	 �	 	�� . ������	 ������ -� �������	��� ��� 	��
 
	����� ��
��	 �
 �������


	��	 �����	� ���
���	��� �� C��������� ������
 ������
 ���

 ��	����� ������� ��	���

	��� ���

 ����
	�� ������	� ��� �������	��� ��	���� �4 ��� �6> �
 ���� ����� ���

C��������� 	��� 	�� ��
	 �� 	�� ����	���
 ��	� 	�� ��

���� �����	��� ��  �������

������� 	� 	�� β1�������	��; �	 �
 �
	���	�� 	� �� ��
�	��� ��� ��
	 ����	���
� -

��
�	��� ������	�� �
 ����� �� �. �� 	�� /+ ����	���
 ���� ����� 	��
�� * �
	���	�
 ���


����$���	 �	 	�� . ������	 ������  � * ����	���
� β1 �
 ����	���� ��	 ���
 / �� 	��
� ����	���

���<����	
 ��� 
����$���	� ��� ������� ���	��� 	��	 ���
�
 �
 	��	 �����	� ��� ���������	

���
���	��� ���� ��	�� ��� �� �������� �
 ���������	
 ��	��� 	��� 
��
	�	�	�
�  �

 ������ ��� >��	����� �� $�� � 
����$���	 ����	��� ������	���=�� �
 
��
	�	�	�����	
� ��	

	��
� ����	���
 ��� �����	���
� ��� ����	�
��
�����	�
 ��	���� ��
� ���	�����	
 	�� ��
��	


�� 	�� ������� ������ ����� �����

���� ����� 	�� �������	� ����	��� ��	���� 	�� ��������


������	�
 
��
	�	�	�����	
� -����� 	��
 ��������	
 	�� ���� 	� �� ������� ���� ����

��� �

����� �� ����	���
 ��� ��	 �

��� 	��	 	���� ���
	
 ��� ��� ����	��� ����� 	��� ��	���	

	�
	����

��� �
���	 	��	 ��
� ����
 	� �� ���
������ �� 	�� �
	���	���
 �
 	�� ���
���� �� 
	����

	���� ����8
 �� 	�� ��	�� ��� ������$��	��� �� ������
 �
 �� ������
 �������� :� ����

	���� � 
����$��	��� ����� � ����
 �������� ��� ������
� 	�8��� 	�� ����� �� =��� ������

�))9 ��� ��� ��	������
� ��
 ���� �������� �� 	�� ������ ��� �����
��� �� 
��� � ����


�������� ���
 ��	 ������ 	�� ��	����
 �� ��	��� 	�� 30"0# 	�
	 �� 	�� �
	���	���
 �� 	��

β1� ��� β2�������	��
 ��� ������
�

��� ����� ��
��	
 
�����	 	�� ��
��	
 �� '����
 (�))7,� ��� ��
� ����� 	��	 �����	�

��� ���������	 
������� ��� �� �������� �
 ���������	
 ��� ��
	 ����	���
� 5� 
	����


���	��� ����� �� ����	���
 ��� 
����� ������ ��� �
�
 ���	��� �
	���	��� ��	���� ���

	�� ����	���
 �������� �� ��	� 
	����
� 	�� �����	��� �� 	�� ���������	��
 ����	
 ���

��������
 
������ �� ��� 
	��
 	��� �� '����
@� - ���������	���	
 ����	��� ��	���� 	��

��������
 �
 ��
� ����� �
 -���� ��� :��&��	� (�))7, �� � ����	����	��� ����� �� 3������

��� �����
� �
 ����� ��� ��� �������� -
������ (�)*., ��� -���� (�)*1, ��� '�	
��	�


/)



0 0.05 0.1 0.15 0.2 0.25 0.3 0.35
−1.5

−1

−0.5

0

0.5

1

1.5

2

2.5

3

3.5

4

Size of government sector

R
el

at
io

n 
be

tw
ee

n 
pr

iv
at

e 
an

d 
go

ve
rn

m
en

t c
on

su
m

pt
io

n

������ �A ��� ����	��� ��	���� β1 ��� 	�� 
�=� �� 	�� ���������	 
��	��

(�)*2,� ��� $�� 	��	 ���������	 
������� �
 � 
��
	�	�	� ��� �����	� 
��������

 � $���� �� 	�� ��
��	
 �� 	�� �
	���	���
 �
 ���
��	�� �� � �������	 ��
� ��� �
	���	�
 ��

β1 �
 ����	�� 	� 	�� 
�=� �� 	�� ���������	 
��	�� �� ���� ����	�
� ��� 
�=� �� 	�� ���������	


��	�� �
 ���
���� �
 �� ������� �� 	�� ��	�� �� ���������	 ���
���	��� 	� �6> ��	����

�)29 ��� /99��  � 	�� $����� �� 
�� 	��	 	���� �
 � ����	��� �������	��� ��	���� 	��

�
	���	� �� β1 ��� 	�� ������� 
�=� �� 	�� ���������	 
��	��� - ������ 	���� ���� �
 ��������

�� 	�� ����� 	� ����
	��	� 	��
 ����	��� �������	���� ����� ������
 	��	 ��� ����	���
 ��	�

� ������ ���������	 
��	��� ���������	 ���
���	��� ������
 ���� �� � 
��
	�	�	� ���

�����	� ���
���	������ ��� ����	��� ����	��� �
 �� ���� ��	� �������� ��	��	��� ��� �
 ��
�

����� �
 '����
 (�))7,� ��� 
	����
 	�� ����	��� ��	���� 	�� 
�=� �� 	�� ���������	 
��	��

��� 	�� ������ �� 
��
	�	�	�����	
 �� ���������	���	
 ��	���� �����	� ��� ���������	

���
���	���� ��� �������	��� ��	���� β1 ��� 	�� 
�=� �� 	�� ���������	 
��	�� �
 �������


��� 	� 	�� ���	 	��	 �������	 ��������	
 �� ���������	 ���
���	��� ��� �����	�� 	� ����

�������	 ����	
 �� �����	� ���
���	���� "��� ��������	
 �� ���������	 ���
���	����

��.)� ���!��� �'
�������� �� �)� ��� �	 �)� (���) �
 �����'���(� .)� ��(����� �����!����� ���
 ���

)��(� ���� �)�
 �'
��������� ��� �� ��� ��)�� 
��(!� �'
���������

+9



����� .A >�����	�� �
	���	�
 ��� 	�� �!36 ����	���


α β1 β2

#�
���!�� 870.91 0.86 0.40
(3.64) (4.00) (9.07)

#�
���� −1058.34 0.47 0.51
(−7.76) (3.63) (22.44)

��!(��� −921.46 0.80 0.42
(−5.14) (6.96) (20.19)

*����� 535.92 0.52 0.49
(−1.25) (3.43) (24.63)

� ��B��!��� 3071.30 1.02 0.38
(1.95) (1.76) (3.18)

:������ −1761.97 0.94 0.47
(−4.21) (2.51) (5.88)

������$ 2254.95 −0.01 0.41
(9.62) (−0.02) (12.10)

����� 725.77 −0.14 0.59
(2.93) (−0.95) (14.96)

A��!��� 890.88 0.43 0.38
(4.70) (3.21) (11.46)

A����� 1632.21 0.24 0.43
(4.79) (0.88) (5.48)

������ 6��(��� −2230.25 −0.23 0.79
(−2.67) (−0.65) (21.06)

:����� −4977.62 0.64 0.92
(−5.27) (0.98) (6.93)

C��!��� 2419.60 0.26 0.34
(6.03) (0.98) (10.33)

C��!��� −871.77 −0.68 0.76
(−1.71) (−3.34) (11.71)

C��!� −1762.30 0.40 0.59
(−7.57) (1.84) (14.71)

,���� 269.86 0.60 0.46
(2.14) (3.33) (15.83)

�����'���( 2739.76 3.37 −0.22
(5.97) (6.60) (−2.70)

?��)��!���
 2374.24 −0.20 0.44
(7.36) (−0.81) (7.00)

?�� �� 2962.84 −0.29 0.41
(14.74) (−1.09) (7.49)

?� D��!��� 1508.31 −0.02 0.53
(3.49) (−0.06) (9.07)

�����(�! 30.86 −1.02 0.83
(0.07) (−2.47) (7.27)

� ���� 3152.88 0.09 0.34
(7.78) (0.59) (7.69)

������ �����
 −1715.71 0.26 0.69
(−4.55) (1.89) (59.66)

����� .)� ���������
 )��� '��� �
�������  ��) �)� ���� �
�������� ����!��
 ��� ��
������)�
�
� +�



�
�������
 I����I ��	���	��
 ��� � ���������	 
��� �
 	�� &������� 


	�� ��� �������� ��	

��
� 	�� �����
	���	���� ��� �� 	�����	 �� �
 ����� ���������	��
 	� �����	� ���
���	����

#��
 �	��� ��������	
 �� ������ 
�������� �� 	�� �	��� ����� ��� ���	����
 
��
	�	�	�
 ���

�����	� ���
���	���� 
��� �
 
��
���=�� 
����� ������
 ��� ������ 	���
���	
�  � ��	����

	��
� ����
� ���
 ��	���	��
 ��� ���� ���	���
 �� ��	� ���������	���	
 ��� 
��
	�	�	�����	
�

"��� �������
 ��
 �� ����	� ���� ��� �����	���� ��� ������ 	�� ���������	 
��	���

	�� ���� �������� �	 �
 	��	 	�� ��	���	��
 �� 	�� ���������	 ��� 
��
	�	�	�
 ��� �����	�

���
���	���� - 
���� ���������	 
��	�� �
 ��8��
 	� ���
�
	 ��
	�
 �� ���������	��


��	���	��
�

% �������	���

 � 	��
 
	��
� �� ����

� 	�� ����	��� ��	���� �����	� ��� ���������	 ���
���	��� �� /+

�!36 ����	���
 ��	���� �)29 ��� /99�� � ����	��� 	��	 ��
 �����	��	 �������	���
 ���

	�� ��
��� ��� ����

�
 �� $
��� �����
� "����$����
� �� �����

 	�� �

�� �� ���	��� �����	�

��� ���������	 ���
���	��� ��� 
��
	�	�	�
 �� ���������	
� ���� ���	��� 	�� ��������

�	���	
 �� �����	� ���
���	��� ������
�
 �� ������
�
 ��	� ���������	 ���
���	���� ���


%��
	��� ��
 ���� ����

�� �� � ������ �� 
	����
 ���� 	�� 
���
� ��	 	�� ��������� ��
��	


��� ������ ����� 
	����
 ��	�� $�� � 
��
	�	�	�����	
 ����	��� ��	���� 	�� ��������
� ��	

�� �����	 
	����
� ����� 	�8� ��	� ������	 ����
	�	������	
 ��� ����	����	��� �� 	�� ��	��

���������	 ���
���	��� ��
 ���� ����� 	� �� � ���������	 	� �����	� ���
���	����

:� ����
 ����� ����	����	��� ����

�
 	� ����
	���	� 	�� ����	���� - ����� �������� �



��	���� 
���� ����� ����	����	��� 	�
	
 ���� ���� 
���� 	� ���� ��		�� 
	�	�
	���� ������	��


	��� 
�������%��	��� 	��� 
����
 	�
	
�  � 	�� ��������� �������	���� �� �
� 	�� ����


��������� 30"0# ����	����	��� 	�
	 �
 :�
	������ (/99.,� ��� �

���	��� ������ 	��

	�
	 �
 	��	 	�� ���������� ����� ������
 ��� ���������	��� ����� �
 � ��
	���	��� �

���	���

�� ��������� �������	���
� - ���	
	��� �� 	�� 	�
	 �
 	�������� ������	��� �������� �
 	�

����� ���

�
��	����� ���������� �� 	�� ��	��

��� ��
��	 �� 	�� ���	
	��� �
 	��	 	�� ���	
	������ ���	���� �����
 ��� ������ 	��� 	��

����
	���� ���
 ��� 	��	 	�� ���������
 ��� 
��
	��	���� -�	����� 
������ ���	��
 ����	

+/



���	����	� 	� 	��
� ���

�
��	����� ���������� �� 	�� ����� �
 	�� ��
	 �������� ���� ���

������
��� ���� 	��
 
	��
 �
 	��	 �	 �
 ����
���� 	� ����
 � ���	
	��� 	�����%�� ���� �
���

	�� 	�
	 �� �������	���
 ����� ���

�
��	����� �������	��� �
 ���
��	�

����� ���� ������
���
 ��� �� ���� ���� 	�� ��������� ����

�
� ��� $�
	 �
 	��	

	�� ����	��� ��	���� �����	� ��� ���������	 ���
���	��� �����
 	� � ����� ��	��	 �����

	�� ����	���
� :� �������
 	�
	 �� 	�� ������	��
 ��� 	�� 
��� ����

 ����	���
� ��� 	��

��
��	 �� 	�� 	�
	 ������
 	��	 	��
 ��� ��	� ���
 ��������	
 	�� ���	 	��	 ��� ��
 	� ��

���
 ������� ���� 	���	��� � ����� �� ����	���
 �
 � ������ ���	 �� ����� ����

�
� ���


����� ������
��� �
 	��	 ���������	 ���
���	��� �
 � ���������	 	� �����	� ���
���	���

�� 	�� ��&���	
 �� 	�� �!36 ����	���
� ���
 ��� � ��� �� 	�� ����	���
 �� �� $�� �

����	��� �� 
��
	�	�	�����	
� 4� 
	�	�
	�����
 
����$���	 ����	��� ��� �� ����� ��� ���
 ��

	�� ����	���
� ������
� �� $�� � �������	��� ��	���� 	�� 
�=� �� 	�� ���������	 
��	�� ���

	�� ����	��� ��	���� �����	� ��� ���������	 ���
���	���� ��� ������ 	�� ���������	


��	��� 	�� ���� �������� �	 �
 	��	 �����	� ��� ���������	 ���
���	��� ��� 
��
	�	�	�
�

���
 �������	��� �
 �����������
 ��	��	��� 
���� � 
���� ���������	 ������	
 ��	���	��
 	��	

��� ��
	�
 ���������	
 	� �����	� ���
���	���� ����� � ������ ���������	 ������
 �� ��

������
��� ������ �� ��	���	��
 	��	 ��� 
��
	�	�	�
�

&���������

-����� "� (�)*1,� ��������
 ��� >�������	 ���������	 "������� �� �� ���� !�����
�

������� �� ���	
��� �
�����
�� �2(/,A�)2D//7�

-����� H� -� ��� :��&��	�� �� "� (�))7,� -� !��������  ���
	���	��� ��	� ���������	

"������� ��� >����	� "��	�� ?��������� :��8��� >���� )7D*� ?��8 �� 3������

-����� H� -� ��� :��&��	�� �� "� (�))2,�  �	��	������� "��
	�	�	��� ��� ���������	

"�������� ��	 �	��	� �� �
�����
� ��� �
�
��
�
�� 2)(7,A19.D19)�

-����� H� -� ��� :��&��	�� �� "� (�))*,� ���������	 !������	���
 ��� 	�� >�������	�

 ����� #����� �	��	� �� �
�����
 ������
�� �(+,A2�)D2+9�

++



-�����
� 6� :� '� (�))�,� 5�	���
8���
	���	
 ��� -�	��������	��� 3��
�
	��	 3���������

#�	��� !
	���	���� �
����	
��
�� .)(+,A*�2D*.*�

-
������� 6� -� (�)*.,� ��
��� >����
 ��� -������	� 6������ ��	 ��	��
�� �
�����


�	��	�� 2.(�,A��2D�/2�

?��� B� ��� 4�� "� (/997,� - >���� -		�� �� 0��	 H��	
 ��� 3���	����	���� �
����	
��
��

2/(7,A��/2D��22�

?����
� #� B� (�)2�,� ��
����� ��
��	 ��� 
�	 ���
	 �	�	�� � �
��� �� ��
��	
�����


��	���� #������5���� 4�� J��8� 0��	�� "	�	�
� / ���	����

?����&��� -� (�))),� >���� 6�	� 0��	 H��	
 ��� 3���	����	���A -� ��������� � ����

!���	
�� �� �
�����
 ��� �
�
��
�
�� 1�("�,A192D1/1�

?����� H� B� (�)*�,� ��	��	 !���	
 �� ���������	 >�����
�
� ��	 ������� �� ����
�
��

�
������ *)(1,A�9*1D��/��

?���
	�K�� >� (�))),� ?��	
	��� #�	���
 ��� -������	���
 �� !������	���
 � - ?����

"����
� :��8��� >���� �)))A/� 6����	���	 �� !�������
� 0��
��� 0�����
�	
�

3�������� B� J� ��� #��8��� 4� �� (�))9,� >�������	  ������ 3�����	  ������ ���

3��
���	���� ������� �� !����	�� ��� �
�����
 �
�
��
�
�� *(+,A/1.D/2)�

3����  � (/99.,� 4��
	�	�����
 >����
�  � >�		��
��� '� ��� #���
� �� 3�� ���	��
� ���"���	

#���$��% �� �
����	
��
� &����	 '� �
����	
��
 ��	���� >������� #��������� 4��

J��8� 0��	�� "	�	�
� ���	��������

3���
	����� C� B� ��� !���������� #� (�)**,�  
 �����
 H����
 -���� �� #��
������	L

3�����	 H��� ?�
���

 3
��� �������
 ��� -������	� C���� #��8�	 ����	��	���
� 4?!H

:��8��� >���� /299�

!����� H� �� ��� �������� 3� :� B� (�)*2,� 3�� �	����	��� ��� !���� 3�����	���A H�����


��	�	���� !
	���	���� ��� ��
	���� �
����	
��
�� ..(/,A/.�D/21�

+7



������� �� 3� (�))+,� ��
��� >����
 ��� -������	� 6�����A 3�����	� ��	 ��	��
��

�
�����
 �	��	�� *+(+,A1.)D111�

������ B� B� B� ��� '���������� �� (/99+,� C�8��������?�
�� 3���	����	��� -���

�
 ��

>����
 �� F��	�� !�����3�����	��� #����
� ������� �� !����	�� ��� �
�����
 �
�
��
�
��

/�(/,A/).D+�*�

5����� '� (/999,� ��
	��� ��� "	�	������	
 �� 5�	��������
 >���� 6�	�� �
����	
��
�

�������� +(/,A�7*D�1��

5���� H� !� (�)2*,� "	����
	��  ������	���
 �� 	�� C��� 3
����>�������	  ����� 5
��	��
�
A

�����
 ��� !�������� ��	 ������� �� ����
�
�� �
������ *1(1,A)2�D)*2�

5���
� M� �� ��� ���8���
� 4� (/99�,� -�� >����	� "��	�� 3��
���	��� 6���
���
 -���	��

�
 >����� "��	�� 3��
���	���L ��	 �
�����
 �	
���� 22(/+),A+1�D+2+�

5�� �� (/99�,� ��� ���������	 "������� ��� >����	� 3��
���	���A - >���� 3���	�����

	��� -���

�
� ��
	���
����� �	��	� �� �
�����
� ��� (����
	� �9(�,A).D�9*�

5�� �� (/997,� 3���	����	���� ���������	 "������� ��� >����	� 3��
���	���A !�������

���� B����� ��	 ��)��	�	 �
�����
 �	��	�� ..(/,A�1/D�27�

 �� '� "�� >�
����� #� 5�� ��� "���� J� (/99+,� ��
	��� ��� 0��	 H��	
 �� 5�	���������


>����
� ������� �� �
����	
��
�� ��.(�,A.+D27�

B����
��� "� (�)**,� "	�	�
	���� -���

�
 �� 3���	����	��� F��	��
� ������� �� �
�����


������
� ��� *��
���� �/(/N+,A/+�D/.7�

B����
��� "� (�))�,� !
	���	��� ��� 5
��	��
�
 ��
	��� �� 3���	����	��� F��	��
 �� ���
�


��� F��	�� -�	������

��� #����
� �
����	
��
�� .)(1,A�..�D�.*9�

B����
��� "� ��� B�
����
� '� (�))9,� #������ C�8������� !
	���	��� ���  ��������

�� 3���	����	��� � :�	� -������	���
 	� 	�� 6����� ��� #���
� � ���� !���	
�� ��

�
�����
� ��� �
�
��
�
�� ./(/,A�1)D/�9�

+.



B����
��� "� ��� B�
����
� '� (�))/,� ��
	��� "	���	���� 5
��	��
�
 �� � #��	������	�

3���	����	��� -���

�
 �� 	�� >>> ��� 	�� 0 > ��� 	�� 0'� ������� �� �
����	
��
��

.+(�D+,A/��D/77�

'��� 3� (�))),� "������
 H����

��� ��� H�
������?�
�� ��
	
 ��� 3���	����	��� �� >����

6�	�� ������� �� �
����	
��
�� )9(�,A�D77�

'��� 3� ��� 3������ #��5� (/999,� �� 	�� !
	���	��� ���  �������� �� � 3���	����	��

H����

��� �� >���� 6�	�� �����
	� �� �
����	
��
� &����	 '+� ����
�
������ ���	��,

���	� *���
	"��
���, ��� ������
 ���	��� ����
 �2)D///�

'����
� �� (�))7,� ���������	 "������� ��� >����	� 3��
���	���A "���  �	����	�����

!�������� ������� �� ���	�, *�	��
, ��� !��%��"� /1(�,A)D//�

'�	
��	�
� �� (�)*2,� �� 	�� "��
	�	�	�����	
 ��	���� >����	� 3��
���� !������	��� ���

���������	 "������� �� 3������ ��	 *������� ������� �� �
�����
�� /9(+,A.++D.7+�

'�������� H� 3� (�)*+,� ���������	 6��	� ���������	 "�������� ��� >����	� "��	��

?�������� ��	 ��	��
�� �
�����
 �	��	�� 2+(.,A))7D�9�9�

'���	8��
8�� 6�� >������
� >� 3� ?�� "�����	� >�� ��� "���� J� (�))/,� ��
	��� 	�� 4���

5
��	��
�
 �� "	�	������	
 -����
	 	�� -�	����	��� �� � 0��	 H��	A 5�� "��� -�� :�

	��	 !������� ���� "����
 5��� � 0��	 H��	L ������� �� �
����	
��
�� .7(�D+,A�.)D

�2*�

C��

��� H�� C
������ B�� ��� CK	������ #� (/99�,� C�8��������?�
�� 3���	����	��� ��
	


�� 5�	���������
 >����
� �
����	
��
� �������� 7(�,A�9)D�7/�

C����� -�� C��� 3����� ��� 3��� 3��"� B� (/99/,� 0��	 H��	 ��
	
 �� >���� 6�	�A -

��	�	��

��� ����	��"����� >�����	��
� ������� �� �
����	
��
�� �9*(�,A�D/7�

C�� 5� ��� #������� �� (�))2,� ?��	
	������� 3���	����	��� H����

���
� ������� ��

�
����	
��
�� *9(/,A/)2D+�*�

+1



#������� �� "� ��� :�� "� (�))),� - 3������	��� "	��
 �� 0��	 H��	 ��
	
 ��	� >����

6�	� ��� � 4�� "����� ��
	� � ���� !���	
�� �� �������
� ��� �
�
��
�
�� 1�("�,A1+�D

1./�

#�3�
8�
� "� ��� '��� 3� (�))*,� - H�
������?�
�� ��
	 �� 	�� 4��� �� 3���	����	��� ��

>���� 6�	�� �
����	
��
 �	��	��� �2(�,A.2D*7�

#���� 5� H� ��� >������ ?� (/997,� ��
	��� ��� � 0��	 H��	 �� >����
 ��	� 6
�����

���	��
� ������� �� �
����	
��
�� �//(�,A*�D�/1�

4�� "� (�)).,� -� !�������� -���

�
 �� 	�� "��
	�	�	�����	
 ��	���� >����	� 3��
���	���

��� ���������	 >�����
�
� ������� �� ���	
��� �
�����
�� +1(+,A.)+D19.�

�!36 (/99.,� �!36 !������� ��	���8 4�� 2.�

>������� >� (�))),� 3��	���� F����
 ��� 3���	����	��� ��
	
 �� 5�	��������
 >����
 ��	�

#��	���� H����

��
� � ���� !���	
�� �� �
�����
� ��� �
�
��
�
�� 1�("�,A1.+D129�

>�
����� #� 5� (/99.,� - "����� >���� 0��	 H��	 ��
	 �� 	�� >��
�

���� �� 3��

 "��	��� 6���������� #���
����	� 3�������� 0�����
�	
�

�		�ANN�����������������8N�����	
N��
����N>�
����3-6�B��9.�����

>������
� >� 3� ?� ��� 5��
��� ?� !� (�))9,� "	�	�
	����  �������� ��  �
	�����	�� F�������


H����

��� ��	�  (�, >����

�
� ��	 �	��	� �� �
�����
 �
���	�� .2(�,A))D�/.�

"��88����� >� (�))�,� -

��	�	�����
 !<����	 !
	���	��� �� 3���	����	��� H����

���
�

�
����	
��
 ��	���� 2(�,A�D/��

"���� J� (�))7,� - H�
������?�
�� ��
	 �� 	�� 4��� �� 3���	����	��� -����
	 	�� -�	����	���

�� 4� 3���	����	���� �
����	
��
 ��	���� �9(�,A)�D��.�

"	��8� B� 5� ��� :�	
��� #� :� (�))+,� - "����� !
	���	�� �� 3���	����	��� F��	��
 ��

5����� �����  �	����	�� "

	��
� �
����	
��
�� 1�(7,A2*+D*/9�

:�
	������� B� (/99.,� - >���� 30"0# ��
	 �� 	�� 4��� �� 3���	����	���� � ���� !���	
��

�� �
�����
 ��� �
�
��
�
�� 12(/,A/+�D/1/�

+2



E���� O� ��� >������
� >� 3� ?� (/99/,� - 30"0# ��
	 ��� 3���	����	��� 0
��� H����

���

H�
�����
� ������� �� �
����	
��
�� �9*(�,A7+D1��

+*



������	'

���	�	���� �� 
�




����� 1A  ��������� -6� 	�
	


pc ∆pc gc ∆gc gdp ∆gdp
#�
���!�� 0.85 −3.95∗ −0.95 −4.90∗ 1.44 −3.98∗

#�
���� −0.22 −5.40∗ −2.26 −3.83∗ −0.29 −4.89∗

��!(��� −1.35 −4.73∗ −2.20 −3.92∗ −0.37 −4.88∗

*����� −1.00 −3.14∗ −2.41 −2.91∗ −0.17 −3.55∗

� ��B��!��� −0.87 −4.17∗ −0.82 −3.68∗ −0.58 4.13∗

:������ −1.2 −4.71∗ −3.13∗ −5.29∗ −1.37 −4.73∗

������$ −0.56 −4.89∗ −0.90 −3.89∗ 0.68 −4.54∗

����� −0.14 −2.57 0.87 −3.12∗ 0.33 −2.57
A��!��� −1.12 −2.96∗ −1.90 −2.66 −1.10 −2.80
A����� −0.61 −3.87∗ −0.36 −4.23∗ −0.27 −4.11∗

������ 6��(��� 1.20 −2.93∗ −1.35 −3.95∗ 0.68 −3.17∗

:����� −0.46 −3.96∗ −3.02∗ −2.82 −0.67 −5.20∗

C��!��� 1.55 −2.79 1.54 −2.22 1.69 −1.88
C��!��� −1.17 −4.00∗ −1.75 −4.89∗ −0.63 −3.34∗

C��!� −0.47 −4.12∗ −1.09 −2.88∗ −0.61 −6.15∗

,���� −1.33 −3.92∗ 1.89 −4.35∗ −1.35 −3.66∗

�����'���( 0.67 −4.39∗ 1.62 −3.09∗ 0.06 −3.40∗

?��)��!���
 −0.58 −2.45 1.07 −4.02∗ 1.03 −3.29∗

?�� �� 0.04 −3.99∗ 0.28 −4.34∗ 0.70 −4.30∗

?� D��!��� −0.07 −4.03∗ −1.07 −7.10∗ 0.16 −4.78∗

�����(�! 0.16 −3.02∗ 0.40 −4.43∗ 0.50 −3.75∗

� ���� −0.96 −3.36∗ −2.38 −3.58∗ −0.31 −3.50∗

������ �����
 0.98 −3.84∗ −0.72 −3.19∗ −0.08 −4.11∗
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